ﬁ -~
~
X

GO PWCWM 9 co~d Wé\ de no reobadan -

L. ReoB + RE pen & (1)
ﬁ?E: M%Q(m@’—(— 9M9->-} 9%
)
K= Rt Kee (3)
(%)

Lo T2 IS T
Rt —.'LM(XC+ ZC)

b=
o N L
e () > Kew= 2 M(RETO
Had e
:/—\/g—ﬁ
a2 , : —~1my -
KYL%‘L = 42, Ay ) I:—:—ZMCZQYL =3 Kpeh = “é‘M‘ZIEj'L




<)
V.= MgR (58 4 &x6)

V! = M{)ﬂ (-W + A&+ 90.»9)
= MR & c> O — e/yuuuul S =0

\/\l: %Q( cio O L &,MQ>

\/“(O): MGJQ

=7 (/OO? F MQQ = 33,
mt =
3

A
>K8erl D | Bl B s

\’;r%&(@w4.+MA> |
EO: M%(&wa\-f/\bal()
K=o

J —+ < :Eo v t

<) p\gR(u‘r;e - @'M) + ’-.;:/Vl lll(el-\'-“;;>él: Eo

e = MAR (o7 A 43 4>

O

pLr-lo D Mo —Q—%—’M\Zl.%

=y, %7; 6_‘&,(&7&4—.&#\/(7 ~ 222 &
R 1 R

\\



